# ON THE COMPLETE PRODUCT OF INTUITIONISTIC FUZZY GRAPHS 

M.P. SUNIL*, J. SURESH KUMAR<br>PG and Research Department of Mathematics, N.S.S. Hindu College, Changanacherry, Kottayam, Kerala, 686102, India<br>*Corresponding author: sunilmp.mp@gmail.com

Received Oct. 9, 2023


#### Abstract

An Intuitionistic fuzzy graph (IFG) is a kind of fuzzy graph (FG) which explains the degree of membership (MS) and non-membership (NMS) of vertices and edges. We present the novel concept, the Complete product of a pair of IFGs. We explore the idea of the Complete product of a pair of strong IFGs and develop certain essential theorems based on strong IFGs. Also, we discuss about the Complete product of a pair of complete IFGs.


2020 Mathematics Subject Classification. 05C07, 05C12.
Key words and phrases. IFG; strong IFG; complete IFG; complete product.

## 1. Introduction

Euler pioneered the notion of graph theory. A graph is a convenient approach to express relationships between objects. Vertices of the graph represent objects, while edges describe relations. Designing a fuzzy network model is necessary when there is ambiguity in the description of the objects and their relations. Zadeh [10] put forth the concept of fuzzy set and this concept brought about revolutionary changes in the area of interdisciplinary research. Rosenfeld [8] developed fuzzy graph (FG) theory in 1975. Another innovative study on fuzzy set was made by Atanassov [2] who introduced intuitionistic fuzzy sets. Next breakthrough came when R. Parvathi [7] developed intuitionistic fuzzy graph (IFG). Ch. Chaitanya and T.V. Pradeep Kumar [3] introduced complete product of FGs. Many perspectives on intuitionistic fuzzy sets and IFGs are discussed in $[1,5,9]$.

An IFG explains the degree of MS and NMS of vertices and edges. An IFG is strong if it is $\lambda$-strong, $\delta$-strong and $\rho$-strong. We introduce the idea of complete product of a pair of IFGs and prove certain results based on this product. We prove that the complete product of a pair of strong IFGs is a strong IFG. For a pair of complete IFGs, their complete product is also a complete IFG. Also, we prove that if

[^0]the complete product of a pair of IFGs is strong, then at least one of the IFG will be strong. We refer to Harary [4] for fundamental graph theoretic terms.

## 2. Preliminaries

Definition 2.1. [4] A graph $G=(V, E), V$ is the vertex set and $E$ is the edge set. Each edge has either one or two vertices connected to it, which are referred to as its end points.

Definition 2.2. [6] A FG is $G=(V, \sigma, \mu), V$ is the vertex set, $\sigma: V \rightarrow[0,1], \mu: V \times V \rightarrow[0,1]$ with $\mu(u, v) \leq \sigma(u) \wedge \sigma(v), \forall u, v \in V$.

Definition 2.3. [7] An IFG is $G=(V, E, \sigma, \mu)$, $V$ is the vertex set, $\sigma=\left(\lambda_{1}, \delta_{1}\right), \mu=\left(\lambda_{2}, \delta_{2}\right)$ and $\lambda_{1}, \delta_{1}: V \rightarrow[0,1]$ stands for the degree of MS, NMS of $v \in V$,

$$
0 \leq \lambda_{1}(v)+\delta_{1}(v) \leq 1 .
$$

$\lambda_{2}, \delta_{2}: V \times V \rightarrow[0,1]$ stands for the degree of MS, NMS of the edge $x=(u, v) \in V \times V$,

$$
\begin{gathered}
\lambda_{2}(x) \leq \lambda_{1}(u) \wedge \lambda_{1}(v) \\
\delta_{2}(x) \leq \delta_{1}(u) \vee \delta_{1}(v) \\
0 \leq \lambda_{2}(x)+\delta_{2}(x) \leq 1, \forall x
\end{gathered}
$$

Definition 2.4. An IFG $G$ is

$$
\begin{array}{ll}
\lambda \text {-strong if } & \lambda_{2}(x)=\lambda_{1}(u) \wedge \lambda_{1}(v), \\
\delta \text {-strong if } & \delta_{2}(x)=\delta_{1}(u) \vee \delta_{1}(v), \forall x=(u, v) \in E
\end{array}
$$

An IFG $G$ is a strong IFG if $G$ is $\lambda$-strong and $\delta$-strong.
Example 2.5. Consider the IFG $G$ with vertices $u_{1}, u_{2}, u_{3}$ in figure 1.
$\lambda_{2}\left(u_{1}, u_{2}\right)=0.5, \quad \lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right)=0.6 \wedge 0.5=0.5$
$\lambda_{2}\left(u_{2}, u_{3}\right)=0.4, \quad \lambda_{1}\left(u_{2}\right) \wedge \lambda_{1}\left(u_{3}\right)=0.5 \wedge 0.4=0.4$
$\lambda_{2}\left(u_{1}, u_{2}\right)=\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right)$
$\lambda_{2}\left(u_{2}, u_{3}\right)=\lambda_{1}\left(u_{2}\right) \wedge \lambda_{1}\left(u_{3}\right)$.
i.e., $G$ is a $\lambda$-strong IFG.
$\delta_{2}\left(u_{1}, u_{2}\right)=0.4, \quad \delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right)=0.3 \vee 0.4=0.4$
$\delta_{2}\left(u_{2}, u_{3}\right)=0.6, \quad \delta_{1}\left(u_{2}\right) \vee \delta_{1}\left(u_{3}\right)=0.4 \vee 0.6=0.6$
$\delta_{2}\left(u_{1}, u_{2}\right)=\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right)$
$\delta_{2}\left(u_{2}, u_{3}\right)=\delta_{1}\left(u_{2}\right) \vee \delta_{1}\left(u_{3}\right)$.
i.e., $G$ is $\delta$-strong .

Since, $G$ is $\lambda$-strong and $\delta$-strong, $G$ is a strong IFG.


Figure 1. Strong IFG $G$
Definition 2.6. An IFG $G$ is a complete IFG if

$$
\begin{aligned}
& \lambda_{2}(x)=\lambda_{1}(u) \wedge \lambda_{1}(v) \\
& \delta_{2}(x)=\delta_{1}(u) \vee \delta_{1}(v), \forall u, v \in V
\end{aligned}
$$



Figure 2. Complete IFG $G$

## 3. Main Results

We can construct different products in IFGs like tensor product, normal product etc. But these products are defined on specific domains (proper subsets of $U \times V$ ) and not on the whole cartesian product $U \times V$ of the two vertex sets $U$ and $V$ of the two IFGs. Now we discuss the complete product of IFG which is defined on the whole cartesian product.

Definition 3.1. Complete product of the IFGs, $G_{1}=\left(U, E_{U}, \sigma, \mu\right), G_{2}=\left(V, E_{V}, \sigma^{\prime}, \mu^{\prime}\right)$ where $\sigma=$ $\left(\lambda_{1}, \delta_{1}\right), \quad \mu=\left(\lambda_{2}, \delta_{2}\right), \quad \sigma^{\prime}=\left(\lambda_{1}^{\prime}, \delta_{1}^{\prime}\right)$ and $\mu^{\prime}=\left(\lambda_{2}^{\prime}, \delta_{2}^{\prime}\right)$ is the IFG
$G=G_{1} \circledast G_{2}=\left(U \times V, E, \sigma \circledast \sigma^{\prime}, \mu \circledast \mu^{\prime}\right)$,
$E=E_{1} \cup E_{2} \cup \ldots \ldots \cup E_{8}$ such that

$$
\begin{aligned}
& E_{1}=\left\{w: u_{1}=u_{2}, w_{2} \in E_{V}\right\} \\
& E_{2}=\left\{w: u_{1}=u_{2}, w_{2} \notin E_{V}\right\} \\
& E_{3}=\left\{w: v_{1}=v_{2}, w_{1} \in E_{U}\right\} \\
& E_{4}=\left\{w: v_{1}=v_{2}, w_{1} \notin E_{U}\right\} \\
& E_{5}=\left\{w: w_{1} \in E_{U}, w_{2} \notin E_{V}\right\} \\
& E_{6}=\left\{w: w_{1} \notin E_{U}, w_{2} \in E_{V}\right\}
\end{aligned}
$$

$$
\begin{aligned}
& E_{7}=\left\{w: w_{1} \in E_{U}, w_{2} \in E_{V}\right\} \\
& E_{8}=\left\{w: w_{1} \notin E_{U}, w_{2} \notin E_{V}\right\}, \\
& \text { where, } w=\left(\left(u_{1}, v_{1}\right),\left(u_{2}, v_{2}\right)\right) \text {, } \\
& w_{1}=\left(u_{1}, u_{2}\right), \\
& w_{2}=\left(v_{1}, v_{2}\right) . \\
& \left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)(x)=\lambda_{1}(u) \wedge \lambda_{1}^{\prime}(v) \\
& \left(\delta_{1} \circledast \delta_{1}^{\prime}\right)(x)=\delta_{1}(u) \vee \delta_{1}^{\prime}(v), \quad x=(u, v) \\
& \left(\lambda_{2} \circledast \lambda_{2}^{\prime}\right)(w)=\left\{\begin{array}{l}
\lambda_{1}\left(u_{1}\right) \wedge \lambda_{2}^{\prime}\left(w_{2}\right), \text { if } w \in E_{1} \\
\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right), \text { if } w \in E_{2} \\
\lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{2}\left(w_{1}\right), \text { if } w \in E_{3} \\
\lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right), \text { if } w \in E_{4} \\
\lambda_{2}\left(w_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right), \text { if } w \in E_{5} \\
\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right) \wedge \lambda_{2}^{\prime}\left(w_{2}\right), \text { if } w \in E_{6} \\
\lambda_{2}\left(w_{1}\right) \wedge \lambda_{2}^{\prime}\left(w_{2}\right), \text { if } w \in E_{7} \\
\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right) \wedge \lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right), \text { if } w \in E_{8}
\end{array}\right. \\
& \left(\delta_{2} \circledast \delta_{2}^{\prime}\right)(w)=\left\{\begin{array}{l}
\delta_{1}\left(u_{1}\right) \vee \delta_{2}^{\prime}\left(w_{2}\right), \text { if } w \in E_{1} \\
\delta_{1}\left(u_{1}\right) \vee \delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right), \text { if } w \in E_{2} \\
\delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{2}\left(w_{1}\right), \text { if } w \in E_{3} \\
\delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right), \text { if } w \in E_{4} \\
\delta_{2}\left(w_{1}\right) \vee \delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right), \text { if } w \in E_{5} \\
\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right) \vee \delta_{2}^{\prime}\left(w_{2}\right), \text { if } w \in E_{6} \\
\delta_{2}\left(w_{1}\right) \vee \delta_{2}^{\prime}\left(w_{2}\right), \text { if } w \in E_{7} \\
\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right) \vee \delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right), \text { if } w \in E_{8}
\end{array}\right.
\end{aligned}
$$

Theorem 3.2. For a pair of strong IFGs $G_{1}, G_{2}$, their complete product is also a strong IFG .

Proof. Consider the strong IFGs $G_{1}, G_{2}$.
For $w_{1} \in E_{U}, w_{2} \in E_{V}$,

$$
\begin{gathered}
\lambda_{2}\left(w_{1}\right)=\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right), \lambda_{2}^{\prime}\left(w_{2}\right)=\lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right), \\
\delta_{2}\left(w_{1}\right)=\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right), \delta_{2}^{\prime}\left(w_{2}\right)=\delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right) .
\end{gathered}
$$

Case(i) When $w \in E_{1}$

$$
\begin{aligned}
\left(\lambda_{2} \circledast \lambda_{2}^{\prime}\right)(w) & =\lambda_{1}\left(u_{1}\right) \wedge \lambda_{2}^{\prime}\left(w_{2}\right) \\
& =\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right) \wedge \lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right), \text { since } u_{1}=u_{2} \\
& =\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \wedge\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{2}, v_{2}\right) \\
\left(\delta_{2} \circledast \delta_{2}^{\prime}\right)(w) & =\delta_{1}\left(u_{1}\right) \vee \delta_{2}^{\prime}\left(w_{2}\right) \\
& =\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right) \vee \delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right), \text { since } u_{1}=u_{2} \\
& =\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \vee\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{2}, v_{2}\right)
\end{aligned}
$$

Case(ii) When $w \in E_{2}$

$$
\begin{aligned}
\left(\lambda_{2} \circledast \lambda_{2}^{\prime}\right)(w) & =\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right) \\
& =\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right) \wedge \lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right), \text { since } u_{1}=u_{2} \\
& =\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \wedge\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{2}, v_{2}\right) \\
\left(\delta_{2} \circledast \delta_{2}^{\prime}\right)(w) & =\delta_{1}\left(u_{1}\right) \vee \delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right) \\
& =\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right) \vee \delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right), \text { since } u_{1}=u_{2} \\
& =\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \vee\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{2}, v_{2}\right)
\end{aligned}
$$

Case(iii) When $w \in E_{3}$

$$
\begin{aligned}
\left(\lambda_{2} \circledast \lambda_{2}^{\prime}\right)(w) & =\lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{2}\left(w_{1}\right) \\
& =\lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right) \wedge \lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right), \text { since } v_{1}=v_{2} \\
& =\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \wedge\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{2}, v_{2}\right) \\
\left(\delta_{2} \circledast \delta_{2}^{\prime}\right)(w) & =\delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{2}\left(w_{1}\right) \\
& =\delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right) \vee \delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right), \text { since } v_{1}=v_{2} \\
& =\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \vee\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{2}, v_{2}\right)
\end{aligned}
$$

Case(iv) When $w \in E_{4}$

$$
\begin{aligned}
\left(\lambda_{2} \circledast \lambda_{2}^{\prime}\right)(w) & =\lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right) \\
& =\lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right) \wedge \lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right), \text { since } v_{1}=v_{2} \\
& =\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \wedge\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{2}, v_{2}\right) \\
\left(\delta_{2} \circledast \delta_{2}^{\prime}\right)(w) & =\delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right) \\
& =\delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right) \vee \delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right), \text { since } v_{1}=v_{2} \\
& =\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \vee\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{2}, v_{2}\right)
\end{aligned}
$$

Case(v) When $w \in E_{5}$

$$
\begin{aligned}
\left(\lambda_{2} \circledast \lambda_{2}^{\prime}\right)(w) & =\lambda_{2}\left(w_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right) \\
& =\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right) \wedge \lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right) \\
& =\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \wedge\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{2}, v_{2}\right) \\
\left(\delta_{2} \circledast \delta_{2}^{\prime}\right)(w) & =\delta_{2}\left(w_{1}\right) \vee \delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right) \\
& =\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right) \vee \delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right) \\
& =\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \vee\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{2}, v_{2}\right)
\end{aligned}
$$

Case(vi) When $w \in E_{6}$

$$
\begin{aligned}
\left(\lambda_{2} \circledast \lambda_{2}^{\prime}\right)(w) & =\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right) \wedge \lambda_{2}^{\prime}\left(w_{2}\right) \\
& =\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right) \wedge \lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right) \\
& =\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \wedge\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{2}, v_{2}\right) \\
\left(\delta_{2} \circledast \delta_{2}^{\prime}\right)(w) & =\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right) \vee \delta_{2}^{\prime}\left(w_{2}\right) \\
& =\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right) \vee \delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right) \\
& =\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \vee\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{2}, v_{2}\right)
\end{aligned}
$$

Case(vii) When $w \in E_{7}$

$$
\begin{aligned}
\left(\lambda_{2} \circledast \lambda_{2}^{\prime}\right)(w) & =\lambda_{2}\left(w_{1}\right) \wedge \lambda_{2}^{\prime}\left(w_{2}\right) \\
& =\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right) \wedge \lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right) \\
& =\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \wedge\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{2}, v_{2}\right)
\end{aligned}
$$

$$
\begin{aligned}
\left(\delta_{2} \circledast \delta_{2}^{\prime}\right)(w) & =\delta_{2}\left(w_{1}\right) \vee \delta_{2}^{\prime}\left(w_{2}\right) \\
& =\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right) \vee \delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right) \\
& =\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \vee\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{2}, v_{2}\right)
\end{aligned}
$$

Case(viii) When $w \in E_{8}$

$$
\begin{aligned}
\left(\lambda_{2} \circledast \lambda_{2}^{\prime}\right)(w) & =\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right) \wedge \lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right) \\
& =\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \wedge\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{2}, v_{2}\right) \\
\left(\delta_{2} \circledast \delta_{2}^{\prime}\right)(w) & =\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right) \vee \delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right) \\
& =\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \vee\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{2}, v_{2}\right)
\end{aligned}
$$

Thus, $G=G_{1} \circledast G_{2}$ is a strong IFG.

Example 3.3. In figure 3, $G_{1}$ and $G_{2}$ are two strong IFGs.
Their complete product $G_{1} \circledast G_{2}$ shown in figure 4 is a strong IFG since all the edges are strong edges.


Figure 3. Strong IFGs $G_{1}$ and $G_{2}$

Theorem 3.4. For two complete IFGs $G_{1}, G_{2}$ their complete product is also a complete IFG .

Proof. Similar to 3.2.

Theorem 3.5. If $G_{1}, G_{2}$ are two IFGs such that their complete product is strong, then at least one of the IFG will be strong.

Proof. Suppose $G_{1}, G_{2}$ are not strong. Then $\exists$ at least one $w_{1} \in E_{U}, w_{2} \in E_{V}$, with

$$
\begin{array}{cl}
\lambda_{2}\left(w_{1}\right)<\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right), & \lambda_{2}^{\prime}\left(w_{2}\right)<\lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right), \\
\delta_{2}\left(w_{1}\right)<\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right), & \delta_{2}^{\prime}\left(w_{2}\right)<\delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right),
\end{array}
$$



Figure 4. Complete product of strong IFGs $G_{1}$ and $G_{2}$
Let $w \in E_{1}$. Then,

$$
\begin{aligned}
\left(\lambda_{2} \circledast \lambda_{2}^{\prime}\right)(w) & =\lambda_{1}\left(u_{1}\right) \wedge \lambda_{2}^{\prime}\left(w_{2}\right) \\
& <\lambda_{1}\left(u_{1}\right) \wedge \lambda_{1}\left(u_{2}\right) \wedge \lambda_{1}^{\prime}\left(v_{1}\right) \wedge \lambda_{1}^{\prime}\left(v_{2}\right), \text { since } u_{1}=u_{2} \\
\text { i.e., }\left(\lambda_{2} \circledast \lambda_{2}^{\prime}\right)(w) & <\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \wedge\left(\lambda_{1} \circledast \lambda_{1}^{\prime}\right)\left(u_{2}, v_{2}\right) . \\
\left(\delta_{2} \circledast \delta_{2}^{\prime}\right)(w) & =\delta_{1}\left(u_{1}\right) \vee \delta_{2}^{\prime}\left(w_{2}\right) \\
& <\delta_{1}\left(u_{1}\right) \vee \delta_{1}\left(u_{2}\right) \vee \delta_{1}^{\prime}\left(v_{1}\right) \vee \delta_{1}^{\prime}\left(v_{2}\right), \text { since } u_{1}=u_{2} \\
\text { i.e., }\left(\delta_{2} \circledast \delta_{2}^{\prime}\right)(w) & <\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{1}, v_{1}\right) \vee\left(\delta_{1} \circledast \delta_{1}^{\prime}\right)\left(u_{2}, v_{2}\right) .
\end{aligned}
$$

Hence the complete product is not strong, a contradiction. So at least one of the IFG will be strong.

## 4. Applications

IFGs can be suitably used in real life problems. It can work as a good aid in solving companies' merger problems. Consider two strong networks $G_{1}$ and $G_{2}$ as in figure 3, with vertices indicating distinct companies. The MS degree of the vertices indicates the market worth of the companies and the MS degree of the edges indicates the market worth of the joint ventures of the companies. Since $G_{1}, G_{2}$ are strong, all the edges in $G_{1}, G_{2}$ are strong and all the edges in the complete product $G_{1} \circledast G_{2}$ are also strong as in figure 4. As the complete product is defined on the whole cartesian product, it includes all
the possible edges between every pair of vertices. Thus, this product is stronger and more reliable than other products and the decision on merger problems based on this result will be more accurate.

For example, consider two strong companies, one which is successful in the production of scooters and another company which is expert in the production of batteries. A joint venture, if initiated, will benefit both the companies and expertise of both the companies in their respective production, will be a strong foundation to introduce a new production unit for manufacturing electric scooters and thus produce a new brand of electric scooters. Thus, the production carried out by the joint venture will be surely successful and may result in making both the companies involved in the joint venture more stronger.

## 5. Conclusions

IFGs has many uses in the fields of robotics, artificial intelligence and medical diagnosis. We investigated a novel product known as the complete product of two IFGs, which accounts for all potential edges. We proved that complete product of a pair of strong IFGs is a strong IFG and complete product of two complete IFGs is a complete IFG. Also we proved that if the complete product of a pair of IFGs is strong, then at least one of the IFG will be strong. IFG models provide exact and accurate outcomes for making decisions and resolving merger related problems. Our future work is to broaden the scope of our investigation to study the complement of the complete product of IFG.

## References

[1] M. Akram, B. Davvaz, Strong intuitionistic fuzzy graphs, Filomat. 26 (2012), 177-196. https://doi.org/10.2298/ fil1201177a.
[2] K.T. Atanassov, Intuitionistic fuzzy sets, Fuzzy Sets Syst. 20 (1986), 87-96. https://doi.org/10.1016/s0165-0114 (86) 80034-3.
[3] Ch. Chaitanya, T.V.P. Kumar, On the complete product of fuzzy graphs, South East Asian J. Math. Math. Sci. 18 (2022), 185-196. https://doi.org/10.56827/seajmms.2022.1802.17.
[4] F. Harary, Graph theory, Addison-Wesley, Boston, (1969).
[5] M.G. Karunambigai, M. Akram, S. Sivasankar, K. Palanivel, Balanced intuitionistic fuzzy graphs, Appl. Math. Sci. 7 (2013), 2501-2514.
[6] J.N. Moderson, P.S. Nair, Fuzzy graphs and fuzzy hypergraphs, Physica-Verlag, Heidelberg, (2000).
[7] R. Parvathi, M.G. Karunambigai, Intuitionistic Fuzzy Graphs, in: B. Reusch (Ed.), Computational Intelligence, Theory and Applications, Springer Berlin Heidelberg, 2006: pp. 139-150. https://doi.org/10.1007/3-540-34783-6_15.
[8] A. Rosenfeld, Fuzzy graphs, in: L. A. Zadeh, K. S. Fu, M. Shimura, Eds., Fuzzy Sets and Their Applications to Cognitive and Decision Process, Academic Press, New York, (1975), 77-95.
[9] S. Sahoo, M. Pal, Different types of products on intuitionistic fuzzy graphs, Pac. Sci. Rev. A: Nat. Sci. Eng. 17 (2015), 87-96. https://doi.org/10.1016/j.psra.2015.12.007.
[10] L.A. Zadeh, Fuzzy sets, Inf. Control. 8 (1965), 338-353. https://doi.org/10.1016/s0019-9958(65) 90241-x.


[^0]:    DOI: 10.28924/APJM/10-51

